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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any Five questions.
3. All questions carry equal marks.

4. Answer may be written either in English or Hindi; but
the same medium should be used
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2. The impact of the Permanent Settlement of Bengal

was far-reaching. Do you agree?
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/ Elucidate the causes and consequences of the Mutiny
of 1857.
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5./Write a descriptive essay on the Brahmo Samaj and

Arya Samaj as significant developments in nineteenth
—T o =
century India.
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The peasant and tribal movements were sparked
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because of genuine concerns. Comment
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Early nationalism was a result of the contradictions

of colonial rule in India. Elaborate
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Gandhi and his movements are an apt example of

mass nationalism. Discuss
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Analyse the contribution of B.R.Ambedkar in Modern

Indian History
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Was it communalism or communal politics which led

to the Partition of India?
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10. Write short notes on any two of the following:

(a) Ryotwari Settlement

(b) Swami Vivekanand

(eY Moplah Uprising

m)/Features of the Indian Constitution
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